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ACTIVITY APPLICATIONS OF TRIGONOMETRY
I) 1) Answer the questions by the data provided in the figures.
pole

Distance to the base of the pole from the
observer : x =

Observer 45!

Angle of elevation when the top of the building
Is viewed from the caris: e =

The schematic diagram shows the angle of
depression, height of a light house and other
details. When a ship is observed from the top of
a light house on the shore of the sea. Then,

1) Name the angle of depression

i) Write the trigonometric ratio to find the
distance between the ship and light house.

BL1

C

4) The angle of depression of the top and bottom of 8 m tall tree from the top of a
building are 30° and 45°, respectively, draw a schematic diagram to represent the above
statement.

5) r
r ?l Height of the balloon from the ground h =




Length of the thread of the kite : | =

7) From the top of 9 m high building the angle of elevation of the top of a tower is 30°
and the angle of depression of its foot is 45° draw a schematic diagram for the statement.

8)
Height of the flag post: h =

= B0

9) A 1.5 m tall boy is standing at some distance from a building of 30 m height. The
angle of elevation from his eyes to the top of the building increases from 30° to 60°
when he walks towards the building. Draw a schematic diagram to represent the
statement.



